Property 2 Outline 
(1) Fee simple absolute 
a. Present or future estate? 
i. A fee simple absolute is a present possessory estate  (freehold estate) 
ii. It is the maximum allowable interest (largest estate known to the law) 
1. Maximum of legal ownership 
a. Greatest possible aggregate of rights, powers, privileges and immunities which a person may have in land 
b. Duration
i. The possible duration of a fee simple absolute is infinite (it can last forever) 
ii. Because it is essentially a gift to A and his heirs the estate can obviously outlive the life of the donee 
c. Hallmarks (three) 
i. Alienable (inter vivos transfer okay) 
ii. Devisable 
iii. Descendible 
d. Language of fee simple absolute 
i. Common law 
1. OA and his heirs (under the common law)
a. NOTE; if any other words were used in the common law, then the estate to the grantee would be a life estate rather than a fee simple absolute 
b. NOTE; and his heirs was not necessary to create a fee simple absolute in a grantee via will 
i. If the testator had a fee simple absolute then the devise would also receive a fee simple absolute 
ii. However there was no presumption under the common law even in regard to wills that the testator intended to give the devise a fee simple absolute 
iii. SO if the devise was for blackacre from OA then unless the testators intent was clear in some other way A would only receive a life estate 
c. And his heirs; they are language of limitation rather than purchase (words of limitation versus words of purchaser) 
i. Words of limitation; These words that define or denote the quantum of interest given to the transferee (donee, grantee) 
1. The heirs take nothing in this conveyance 
2. Rather “and his heirs” signifies 
a. That A is receiving a fee simple absolute 
b. That the estate has possibility of infinite duration because it can pass intestate to A’s heirs 
3. NOTE; even thought the heirs have the possibility of succeeding to A’s interest to the property upon his death they are succeeding to the estate as “successors to A” rather than as “purchasers from A’s grantor” so they can never be purchasers 
ii. Versus words of purchase; words of purchase denote or define who the grantee is
1. the word A in “to A and his heirs” is a  word of purchase because it denotes who the grantee is (A) 
ii. modern law 
1. OA   
a. Under the common law A would have a life estate rather than a fee simple absoloute 
b. Under the modern law, however the presumption is that the transferee takes the same estate that his grantor has UNLESS it is specified that he takes a lesser estate 
c. NOTE; under the modern law the presumption in a transfer via will is that the devise receives the same estate the testator had 
i. So UNLESS the will specifies that the devise is to take a smaller estate the presumption is that the devise takes the same estate as the testator had in the land  
d. Any attempt to restrict the alienability of the fee simple absolute has been struck down 
i. I.E.;  0 B and her heirs on her father’s side 
1. The attempt to limit the descent will be struck down and the grant will be to “B and his heirs” 
2. WHY= laws favors the free alienability of property 
(2) Fee simple defeasible estates; qualified fees 
a. What is a future interest 
i. An interest in property where the right to possession is postponed because someone else has a present interest in the property 
b. Considerations for determining what kind of fee simple defeasible is created 
i. Is the future possessory interest in the grantor or is it in a transferee? 
1. Grantor- FSD or FSSCS 
2. Transferee- FSSEI 
ii. What was the grantor’s motivation 
1. Did he intend the forfeiture to automatic (FSD) or optional (FSSCS) 
c. Purpose of creating a qualified fee
i. The purpose of the creation of the qualified fee is to impose a limitation on the use of the land 
d. Future possessory estate in the grantor 
i. Fee simple determinable; subject to a limitation 
1. What are the estates created? 
a. Here the present possessory estate is a fee simple determinable 
i. O does not transfer all that he has to the transferee; he keeps a future possessory interest in the estate called a possibility of reverter 
b. The future possessory estate is a possibility of reverter 
i. What is the possibility or reverter
1. It is the possibility that the estate will revert to O if the stated event (limitation on the property) occurs 
2. Once the limitation occurs (the happening of the event specified in the instrument creating the interests) the possibility of reverter becomes a present estate in the grantor 
c. Characteristics of the possibility of reverter 
i. It is alienable 
ii. In almost all jurisdictions it is devisable and descendible 
2. Duration 
a. Duration of the FSD 
i. Like the fee simple absolute it is an estate of possibly infinite duration, but it could automatically end upon the happing of the specified event (limitation) 
ii. Marketable title act; the FSD is converted into a FSSCS
b. Duration of the PR 
i. Marketable title acts; 
1. have converted the possibility of reverter into a power of termination  
3. Characteristics 
a. Possibility of reverter is NOT subject to the RAP 
b. If the limitation on the property is violated then the fee simple determinable is AUTOMATICALLY terminated 
c. Failure to bring a cause of action or ejectment in a timely fashion may result in the grantee obtaining an FSA through adverse possession 
d. NOTE; Batdorf and Biltmore Village 
i. Both of these cases deal with legislation which has the effect of limiting the effectiveness of the possibility of reverter (the statutes limit the time in which enforcement of the forfeiture can be brought as well as limiting the time in which the forfeiture provision can restrict the property 
ii. Although the courts come to different holdings regarding the validity or constitutionality of the savings clause; 
1.  the clause which allows for PR’s which have come into existence prior to the effective date of the act a 1 year period to commence and action for recovery
2. Batdorf; time allowed via the savings clause was reasonable and afforded adequate opportunities to enforce rights which have vested prior to the enactment 
3. Biltmore; the savings clause arbitrarily cuts off the right (the vested PR) in one year unless suit is brought to enforce it 
iii. There are a number of points on which the cases agree 
1. It is okay that the acts operate retroactively (meaning that they can affect PR’s constitutionally which were created prior to the implementation of the act)
a. Possibility of reverter is no more than an expectation, a possibility that an interest in property may accrue in the future 
b. Possibility of reverter= clog on title which withdraws property from the commercial market long after the social or economic reason for their creation has ceasted 
4. Language; flag words for fee simple determinable 
a. So long as 
b. While 
c. During 
d. Until 
e. NOTE; there is no express language required concerning the future possessory interest of the grantor (his possibility of reverter) 
i. Because the estate to the transferee is inherently limited, it must pass to someone if the limitation is violated, so we imply that it goes to the grantor
5. SOL; statute of limitations 
a. The cause of action for the owner of the possibility of reverter begins to run upon the happening of the limitation set forth in the instrument creating the fee simple determinable 
ii. Fee simple subject to condition subsequent; subject to a condition subsequent  
1. What are the estates created? 
a. Here the present possessory estate is a fee simple subject to condition subsequent 
i. O does not transfer to the transferee all the interest which O has in the property 
ii. Rather O retained an interest in the property, the future possessory estate called the power of termination 
b. The future possessory estate is a power of termination (right of re-entry) 
i. It is the power to terminate the granted estate upon the breach of the condition specified in the instrument transferring the estate 
ii. The grantor can elect to terminate the granted estate or elect not to terminate the granted estate (it is optional rather than automatic) 
iii. Until the power is exercised the grantee’s estate continues (meaning that the happening of the condition does not result in the power of termination becoming a present estate in the grantor) 
iv. Characteristics 
1. common law 
a. the right of reentry was not (1) alienable (2) devisable or descendible 
b. not transferable by inter vivos conveyance to a third person 
c. in order to terminate the granted estate the grantor had to actually enter the property 
2. Modern law 
a. Today it is generally devisable, descendible and alienable  
b. Toda y the grantor can show his intent to exercise his right of reentry by bringing an action for ejectment 
c. The right of re-entry is release-able by the grantor 
2. Characteristics 
a. Power of termination or right of re-entry is NOT subject to the RAP 
b. If the condition is violated then the grantor has the right to but does not have to exercise his right to re-enter the property and retake possession (optional power rather than automatic) 
3. Duration 
a. Duration of the FSSCS
i. Like the fee simple it is possibly infinite in duration but because it is subject to a condition, the violation of that condition could possibly (because it is not automatic but rather optional) cut short the estate 
b. Duration of the POT 
i. Marketable title acts;  
1. NOTE; the marketable title acts are retroactive legislation so they apply to FSD’s and PR’s that were created prior to the enactment of the Act 
2. As noted above the FSD has been converted into a FSSCS and the PR has been converted into a POT 
3. The POT expires 30 years from recordation of the document creating UNLESS before expiration the holder of the POT records a Notice of Intent to preserve the POT
a. Extends the duration of the POT another 30 years 
b. There is no limit on the number of times the POT can be extended 
4. POT must be exercised within 5 years after the breach of the restriction 
4. Language 
a. On condition that (notice the word condition) 
b. Provided that (language of condition) 
c. But if (language of condition) 
d. If however (language of condition) 
e. May be terminated 
f. Power to terminate 
g. Can forfeit 
5. SOL; statute of limitations 
a. The cause of action begins to accrue not at the time the condition is violated, but rather the SOL Period will begin to run as soon as the power of termination or right of re-entry is exercised
b. This makes sense because the power of termination is optional rather than automatic 
6. NOTE; if the language is ambiguous (meaning there could be language of FSD and FSSCS) then the preference under the law is to create a FSSCS because the law does not favor forfeiture of the estate
a. If (1) the instrument is ambiguous and (2) the court determines that it is a FSSC and (3) the grantor did not reserve a power of termination then the grantee will end up with an FSA because there will be no enforceable remedial device (all you have a declaration of purpose)  
e. Future possessory estate in a third party transferee 
i. Fee simple subject to executory interest 
1. Estates created 
a. Here the present possessory interest is a fee simple subject to executory interest 
i. O does not retain an interest in the property
ii. Rather the future possessory estate, the executory interest is in a third party and the third party’s interest together with the transferee’s interest makes an FSA 
b. The future possessory interest is an executory interest 
i. Note that the executory interest unlike the PR and the POT is Subject to the RAP 
2. Characteristics 
a. Similar to a FSSCS because the property is subject to a condition subsequent (rather than an FSD which is subject to a limitation and the estate automatically ends upon the happening of the limitation) 
b. Similar to an FSD because the happening of the event will cause the property to automatically terminate 
c. However the future estate is not in the grantor but in a third party  
3. Duration 
a. FSSEI 
i. Like the fee simple absolute it is an estate of possibly infinite duration, however because the estate is subject to a condition, if the condition is violated the estate will automatically end 
b. EI 
i. Marketable title acts 
1. The marketable title acts also cover executory interests 
2. The EI under the marketable title acts is now a POT 
3. So the same limitations apply to the EI 
a. 30 year duration with possibility of extention via Notice of Intent top preserve 
b. Extension is 30 years 
c. No limit on the number of extensions 
f. Termination and defenses; how do you get around the limitations or conditions in a qualified fee? 
i. Changed conditions 
1. What are the three alternatives?  (What can the result of a successful changed conditions defense be?)
a. Restriction gone 
b. The restriction remains but it narrowed in order to increase the permissible uses 
c. Conveyance interest is gone; purpose of the conveyance has now been fulfilled so the property is returned 
2. (1) Hess case takeaways; CA case  
a. Even though changed circumstances is an equitable defense the court allowed it to be used as a defense to a forfeiture 
i. NOTE; some jurisdictions do not allow for an equitable defense because the PR, POT and EI are estates in real property; they are future possessory estates
1. The forfeiture provisions are legal rather than equitable restraints on property so some courts do not allow for parties to bring an equitable defense 
2. Contractual obligations (legal obligations) do not change because circumstances change 
b. The person subject to the condition does not need to violate the condition before they can bring an action to determine the validity of the condition 
i. The party may ask for a declaration of their rights or duties in the affirmative or in the negative 
ii. Such declaration may be had before there has been any breach of the obligation 
iii. This essentially means that changed conditions is a defense (if you have already violated the condition) and in can be used as an affirmative action to quiet title 
c. The doctrine of changed circumstances 
i. Where there has been a change in the uses to which the property in the neighborhood is being put 
ii. So that the property is no longer residential property 
iii. It would be unjust, oppressive and inequitable to give effect to the restrictions 
3.  (2) Bolitin case takaways 
a. Changed conditions doctrine 
i. A court will declare deed restrictions to be unenforceable when by reason of changed conditions enforcement of the restrictions would be inequitable and oppressive and would harass the plaintiff without benefiting the adjoining owners 
b. What is the focus of the changed conditions doctrine 
i. Focus is upon the benefit; does the restriction still have a beneficial purpose? 
1. If the original purpose of the [covenant] can still be realized, it will still be enforced even though the unrestricted use of the property would be more profitable to its owner (so we know that the a more profitable use of the property (like the commercial building the plaintiffs wanted to erect) is not enough in the case that the purpose of the restriction has not been rendered obsolete
c. Applied in the case 
i. No finding that the purposes of the restrictions have become 
1. obsolete 
2. or that the enforcement of the restrictions on the plaintiff’s property will no longer benefit the defendants 
a. even though the commercial building ma have increased the market value of the adjacent properties, it would have destroyed the purpose of the restriction which was to preserve a residential area in Hancock Park 
4. (3) Shields case takeaways
a. Language of multiple restrictions
i. In the case there was language of covenant, power of termination and possibility of reverter 
ii. What is the likely result 
1. Covenant; shall be deemed to be covenants running with the land 
2. POT;  right of immediate re-entry 
3. PR; revert to the grantor 
4. UNLESS the grantor specifically stated that he intended to have more than one remedial device (forfeiture and injunction due to covenant) the court is most likely to consider the restriction a covenant because of the laws dislike of forfeiture)  
b. CA strict requirements for the creation of a covenant 
i. If the requirements are not met, as they are not here then there will be no covenant 
1. The restrictions apply to and only bind a single piece of property 
2. There was no separate declaration of restriction covering the lots in the tract 
3. Nothing that indicates the restrictions were for the benefit of other lots in the subdivision 
4. There was no intention of the creation of a mutual easement or servitude 
5. (4) Faus case takeaways
a. Faus was arguing that the city’s use of the property as paved streets was not within the original grant  which was for an electric railway for public transportation and therefore entitled him to money for the taking; the city argued that the use of the property as streets was consistent with the purpose of the original grant 
i. changed economic and technological conditions require reevaluation of restrictions placed on the use of real property and may render legally inoperative certain changes in use which would otherwise require a reversion 
ii. look to the primary purpose and intent of the grantor; the question is whether the use is 
iii. consistent with the primary object and purpose 
ii. Other defenses (look to problem 13 on page 64) 
1. No time duration for the restriction 
a. If there is no time duration then argue that the duration of the restriction should be a reasonable time (to avoid enforcement of the restriction) 
b. If there is no time duration then argue that the duration of the restriction should be perpetual (in order to enforce the restriction) 
2. Waiver 
a. Failure to enforce the restriction on lots similarly situated in the sub-division
b. In Atkins the court found that Atkins had waived the ability to bring a cause of action for forfeiture against Anderson, because Atkins had built the building that did not comply with the use restrictions on the property. Because Atkins has participated in the violation there was no reason for Atkins to take advantage of the forfeiture provision 
3. Unclean hands 
a. This is also an equitable doctrine 
b. Did the grantors retain land in the subdivision, and subsequently violate the restriction that they imposed upon the other lots in the subdivision 
4. Laches 
a. This is the SOL defense (but SOL is by statute and laches is equitable)
b. Because it is an equitable doctrine the time period is a reasonable time 
c. Essentially you are arguing that the grantor slept on their rights and failed to bring an action for violation of the condition of happening of the limitation within a reasonable period of time 
5. Lack of a uniform plan or scheme  
a. Did the grantor release the restriction on another lot that was subject to them; 
i. Look to the purpose and show that the purpose of the restrictions was uniformity 
ii. Then argue that the release of the lot from the restriction destroys the uniform plan or scheme 
b. Does the grantor have a reserve power meaning that he reserves the power not to enforce the restriction on other lots in the subdivision 
i. Is the reserve power broad or limited; if it broad argue that the broad power in of itself destroys the uniform plan or scheme 
6. Liability protection 
a. Argue that the placement of the restriction in the deed was in order to protect the grantor from liability rather than to provide the grantor with a remedial device (forfeiture) in the case that the limitation happened or the condition was violated 
7. Illegality defense 
a. Here you knock out the restriction based upon the restriction being illegal 
i. Cant have a restriction which discriminated on the basis of race (restriction on the sale of property on the basis of race) 
b. What are the sources of such a defense 
i. US constitution 
ii. CA constitution 
iii. Ca statutes 
1. Statute which makes the illegal restriction unenforceable and deemed omitted (language which restricted the sale of property on the basis of race) 
2. Group home statutory protections for 
a. The elderly 
b. Disabled 
c. Child care 
3. Specific statutory protection for 
a. Solar panels 
b. TV antennas and satellites 
4. Common interest developments 
a. Own certain things individually and other things as tenants in common 
i. Common areas 
ii. Common walls 
5. Statutory protections 
a. CA CPC § 1354
i. The covenants and restrictions in the declaration shall be enforceable equitable servitudes UNLESS unreasonable 
b. Overall impact; is this an unreasonable restriction looking at the whole common interest community
i. Not a case by case fact sensitive inquiry 
6. CA CPC 	1360.5 
a. Allows owners in a common interest community to keep at least one pet within the common interest development, subject to reasonable rules and regulations of the association 
g. Eminent domain and qualified fees 
i. The issue here is whether the holder of the remedial device is entitled to part of the compensation for the taking via eminent domain 
1. NOTE; when the government takes via eminent domain, the owner is entitled to fair market value for the taking 
ii. ANSWER; jurisdictional split 
1. It depends on whether the jurisdiction treats the remedial device as a property interest ?
a. If the jurisdiction treats the remedial device as a property interest then the holder of the remedial device will be entitled to compensation 
i. Some cases hold that they are not property rights but rather they are building restriction created via contractual agreements between private parties (it is simply a contractual right cognizable in equity as between the contracting parties but not binding upon the sovereign) 
ii. What is the argument 
1. No contractual agreement between the owners of property should be permitted to prevent the use of that property by an agency of the state when its use is required in the exercise of a governmental function 
b. What is the policy behind such an argument 
i. Cost prohibitive; If the state were forced to compensate the owner of the remedial device then the cost of taking the property via eminent domain may outweigh the benefit to the public 
2. Bourgerie Case (takes the approach recognized by a majority of jurisdictions)
a. Deed in the case provided that the land could not be used for an electric transmission station 
b. The California Supreme Court determined that regardless of whether the condemner is a private entity (in this case the electric company) or a public entity a building restriction constitutes a property right for purposes of eminent domain proceedings 
c. THEREFORE compensation must be paid whenever damage to a landowner results from a violation of the restriction
i. Why? The protections of the takings clause in the constitution is as much about equity and fairness as it is about technical concepts of property law 
d. HOWEVER once the land owner is compensated for the taking the property the government takes is no longer burdened by the restriction 
3. How do you determine the compensation that should be given to the holder of the remedial device versus what should be given to the possessor of the fee simple defeasible? 
a. Two approaches 
i. Economic realities 
1. Look to the property which benefits from the restriction on the property and determine the value of the loss to the benefited property  due to the termination of the remedial device 
ii. Pie Theory 
1. Under this theory the value- the value of the burdened property without any restriction upon it (its market value without a restriction= its market value as a fee simple absolute) 
2. The owner of the fee simple defeasible= gets the value of the property with the restriction 
3. The owner of the remedial device= gets the additional amount it would be worth without the restriction 
h. Eminent Doman and qualified fees in CA; 1265.4  
i. If violation of the use restriction was otherwise  reasonably imminent 
1. Owner of the contingent future interest is entitled to compensation for its value IF ANY 
ii. If violation of the use restriction was NOT otherwise  reasonably imminent BUT the benefit was appurtenant to other property (the dominant property) 
1. Owner of the contingent future interest is entitled to compensation to the extent the failure to comply with the use restriction damages the dominant premises 
(3) Application and avoidance of RAP and qualified fees 
a. Roxbury case takeaway 
i. The original estate to the bank was a FSSEI 
1. When the institution shall cease to be exist the trustees shall convey the whole estate to the Old Ladies Home in Roxbury 
2. Has to be an executory interest because 
a. It is divesting the previous estate (the end of the banks estate is not a natural occurrence) 
b. The future interest is not in a grantor but rather a transferee (executory interest or a remainder and because it is divesting cant be a remainder) 
ii. This is an example of the charitable exception to RAP 
1. If either the (1) first gift or (2) the gift over is not to a charity then the charitable exception does not apply 
a. Note that if the first gift is to a charity as well as the gift over then it does not matter that the gift over could vest beyond the RAP period (exception to RAP) 
2. Here the first gift was to a bank with the gift over to the women’s charity 
3. The court found that the gift over was void for remoteness 
4. NOTE; for purposes of this exception that city qualifies as a charity 
b. Brattle Square case takeaway 
i. Again we have a FSSEI (which means that it is subject to RAP) 
1. The fee simple defeasible is in the church 
2. The future interest is in the nephew of the grantor 
3. Because the executory interest does not vest until the condition is violated it is possible that the condition could be violated outside of the RAP period 
c. What are the options when  the court determines that the executory interest is void for remoteness 
i. Look to the language of the instrument 
1. Roxbury= 
a. “so long as” this is language of a possibility of reverter 
b. SO, when the court knocks out the EI rather than giving the grantee (the bank) an FSA, the court gives the heirs of the grantor a possibility of reverter 
2. Brattle Square= conflicting language 
a. Language of PR= “revert”  
b. Language of POT= “upon the express condition” 
c. = follow the rule of construction (the courts do not favor forfeiture so it will be a POT rather than a PR but since there is no language of POT
d. BUT the court follows the rule that if the subsequent condition or limitation is void due to remoteness the estate becomes vested in the first taker= grantee church gets FSA
3. Brown case= 
a. “so long as” = language of PR so that when the EI is knocked out due to RAP there is still a PR either in the grantor or in the heirs of the grantor 
b. The issue was that the grantor has a residuary clause (the residuary clause picks up anything that is not specifically in the will) in his will so that the PR would not pass to his heirs at law (via intestate succession) but rather to the same ten named persons who had the void EI 
c. The court had no issue with the grantor doing via the residuary clause what he could not do via the EI 
4. Noble case= FSSEI in the hospital with the EI in the residuary estate of the grantor 
a. EI is void due to RAP (the conditions could be violated outside of the RAP period)  
b. There is no language of PR so the hospital gets an FSA 
c. Note that the residuary devisees were charities but they were unnamed 
i. If they had been named then the charitable exception would have applied (1st gift to hospital=charity; 2nd gift to multiple charities) 
5. Fletcher case= court had to determine whether it was an FSSEI or an FSD 
a. Language= said property shall revert to the heir of JW Fletcher 
b. Issue is whether heirs are words of purchase (identifying the grantee) or words of limitation (identifying the limitation on duration) 
i. Court determined that the heirs was a word of limitation rather than purchase
1. So the property went to the residuary devisees rather than the heir at law  
ii. If the court had determined that “heirs” were words of purchase it would have been a void EI due to RAP and the PR would have ended up in the residuary clause 
1. So again the residuary devisees rather than the heirs of law would have taken the PR 
(4) Fee tail 
a. What is a fee tail 
i. It is an estate of inheritance the descent of which is cut down to the heirs of the body of the donee 
b. Language of fee tail 
i. Inter vivios transfer under the common law 
1. 0A and the heirs of his body 
2. If there was no use of the word “heirs” in the limitation then there was no fee tail 
ii. Transfer by will under the common law 
1. Did not need to use the word “heirs” in the limitation 
2. If the grantor’s intent was clear from the instrument (will) there would be a fee tail regardless of the language 
c. Original purpose of the fee tail 
i. To keep property within the family so as to preserve a family’s wealth and social standing 
1. You can see why the fee tail has now been abolished 
a. It limits the alienability of land thereby keeping great amounts of land from the commercial property market 
ii. O->A and the heirs of his body 
1. A has a fee tail (he is a tenant in fee)
d. Duration of fee tail 
i. The estate in fee tail continues as long as there are lineal descendants of the grantee 
ii. Once there are no more lineal descendants the estate reverts back to the grantor or his heirs 
iii. So you can see that the property never goes outside of the family 
e. Types of fee tail 
i. Estate in tail male; 0A and the heirs male of his body  (can be special or general) 
ii. Estate in tail female; OA and the heirs female of his body  (can be special or general) 
iii. Fee tail special; O A and the heirs of a particular spouse  
iv. Fee tail general ; no particular spouse designated 
v. Fee tail with possibility of issue extinct; fee tail special where the fee tenant lives beyond the designated spouse  
f. Modern treatment of the fee tail 
i. Not widely recognized in the US. WHY? 
1. Associated with primogeniture; inheritance of the property limited to the eldest male son to the exclusion of all other children 
2. It was used in England to keep land within the family to preserve wealth and social power 
ii. Only recognized in 4 states 
1. Delaware 
2. Maine 
3. Massachusetts 
4. Rhode Island 
iii. Limitations on fee tail within these 4 states 
1. The tenant in tail can transfer the property to a third party in FSA and the third party takes the property as an FSA (called disentail) 
iv. In all other states the fee tail is abolished by statute 
1. Two approaches 
a. (1) the first grantee takes an FSA (this is the majority approach) 
i. Example; O A and the heirs of his body becomes O A (fee simple absolute) 
b. (2) OR the first taker takes a life estate and the heirs of his body take a fee simple absolute 
i. Example O A and the heirs of his body becomes O A for life then to the heirs of A (the heirs of A have a remainder (vested subject to divestment in FSA) 
(5) Life Estate 
a. NOTE; 
i. Must be the life of a human being 
ii. Can be the life of one or more persons 
b. Two types of life estates 
i. NOTE; life estates can also be defeasible (just life fee simples) 
ii. Life estate 
1. Life estate which is measured by the life of the grantee 
2. If the life estate holder transfers  his life estate to a third person then the third person has the estate as long as the grantee is alive (if the grantee dies before the transferee then the property reverts to the grantor) 
3. If the transferee dies before the grantee then the property either 
a. Goes to the heirs or devisees of the transferee for the life of the grantee 
b. OR  reverts to the grantee (he has a life estate) 
4. Then when the grantee dies the estate will revert to the grantor 
iii. Life estate per autre vie
1. Life estate which is measured by the life of a third person 
2. NOTE; when the life estate is for the life of someone other than the grantee the life estate does not automatically revert to the grantor; rather  the heirs or devisees of B keep the property until the death of the third person as which point the property will revert back to the grantor 
c. Characteristics of the life estate 
i. Alienable 
ii. Can be devisable and descendible under limited circumstances (life estate per autre vie) 
iii. Life estate holder cannot convey a greater estate than he has 
iv. Restraint on alienation 
1. Courts have been more willing to allow restraints on the alienability of a life estate because a life estate is not readily saleable because of its uncertain duration 
d. Obligations of the life tenant 
i. Any acts of the life tenant are limited by the law of waste 
1. Under a duty to refrain from any act which will diminish the value of the reversion in the grantor or the remainder in a third party if the act is an unreasonable use of the property
ii. What are the duties of the life tenant 
1. Duty to; 
a. Preserve the land and structures in a reasonable state of repair 
b. NOTE; if the life tenant makes improvements to the land the life tenant cannot ask the future estate holder to contribute (either the grantor if reversion or the third party if remainder) 
c. Duty to pay current taxes levied on the property 
d. Duty to pay the interest on any mortgage attached to the property 
2. NO duty to; 
a. Make expenditures in excess of the profits from the land (profits, rent or income) 
b. Make extraordinary repairs 
c. No duty to rebuild structures damages or destroyed without fault of the life tenant 
3. NOTE; assessment for public improvement 
a. If the life of the improvement does not exceed the life of the probable duration of the life estate the cost of the assessment must be wholly born by the life tenant 
b. If the assessment is quasi permanent in nature it must be apportioned between the life tenant and the owner of the future interest 
iii. Types of waste 
1. Affirmative
a. Life tenant actively changes the property’s use or condition  usually in a way that substantially decreases the property’s value  
2. Permissive  
a. Here the life tenant fails to prevent harm to the property (failed to properly exercise the life tenant’s duties) 
e. Eminent domain; takings and life estates 
i. The issue here is how the compensation for the taking should be divided between the (1) life tenant and (2) the owner of the future interest 
ii. CA approach; 4 options  
1. Apportionment and distribution based on the value of the interest of the life tenant and the remainderman 
2. Compensation= what would be needed to purchase comparable property held subject to a life tenancy 
3. Compensation= held in trust and the income to be distributed to the life tenant for the remainder of the tenancy (the duration of the life estate) 
4. Any other arrangement that would be equitable under the circumstances 
f. Property taxes and life estates 
i. What is the test for reassessment 
1. Is there a transfer of an interest 
2. Including beneficial use 
3. The value of which is substantial or equal to the value of the fee interest 
ii. OO for lifeA 
1. Where the transfer is from the grantor to himself then there is no reassessment of the property 
iii. OA for lifeB 
1. Because there is a change in ownership when O transfers the life estate to A the property is reassessed 
2. The property is reassessed again at the end of A’s life estate (when the vested remainder in B becomes possessory) 
(6) Reversion 
a. NOTE; 
i. reversions are not subject to RAP 
ii. no requirement of specific language in order to create a reversion 
b. What is a reversion 
i. It is another future interest retain in the grantor (already covered PR and POT) 
c. When can there be a reversion; examples 
i. O B for life (O has a reversion) 
ii. B (holder of life estate)C for 10 years (B has a reversion at the end of C’s term for years) 
iii. C (holder of estate for years) D (holder of estate for years but fewer than that of C) (C has a reversion at the end of D’s estate for years) 
d. Reversion under the common law 
i. Considered vested 
ii. Amount to an estate 
iii. Alienable (transferable inter vivos) 
1. NOTE; unlike the other two future interests in the grantor (PR and POT) where there is a jurisdictional split on inter vivos transfer
iv. Devisable 
v. Descendible 
(7) Remainder 
a. Characteristics 
i. It is a 
1. (1) future interest created in a transferee 
a. If the future interest is in a transferor then it is either a POT, PR or reversion 
b. NOTE; all future interests in the grantor are considered vested 
2. (2) that can become possessory IMMEDIATELY upon the NATURAL expiration 
a. If it can become possessory immediately then it is an executory interest 
b. If it can become possessory before the natural expiration of the prior freehold estate, meaning that it is cutting short or divesting the prior estate then it is an executory interest 
3. (3) of a prior FREEHOLD estate in another TRANSFEREE 
a. If the prior estate is not a freehold then it is in the majority of jurisdictions the future interest is going to be an executory interest 
4. (4) created by the SAME instrument 
a. SO if 0A for life then O has a reversion 
b. IF O then transfers his reversion to C it is still a reversion rather than a remainder even though it is in a third party because it was not created by the same instrument 
b. Types of remainders 
i. Vested 
1. NOTE; 
a. Generally not subject to RAP (except for the vested remainder subject to open) 
b. Under the common law vested remainders were considered an estate 
i. Transferable 
ii. Indestructible 
iii. Could be accelerated (the vested remainder can become possessory before the natural expiration of the estate) 
2. Characteristics 
a. A vested remainder is a remainder which is limited in favor of a person who is 
i. Existing 
ii. Ascertained 
iii. And possession is not subject to a condition precedent 
3. Types 
a. Absolutely vested remainder (not subject to RAP) 
b. Vested remainder subject to complete divestment (the following estate is usually an executory interest) 
i. The remainder is in a class or group and at least one member of the class or group is existing and ascertained and possession is not subject to a condition precedent 
ii. Because at least one of the remaindermen is alive, the remainder is vested rather than contingent 
iii. The members of the class that are born later partially divest the living member of the class so they have executory interests 
iv. Important for vested remainder subject to open are the class closing rule 
1. Physiological class closing rule; the class closes when the person who can produce the class members dies 
a. If the class is the children of A once A dies the class closes
2. Rule of convenience 
a. A class that is still open physiologically closes whenever any member of the class is entitled to demand possession of his or her share (not entitled to demand possession until the prior freehold estate has naturally terminated) 
b. Once the class closes no new members of the class can participate in the gift 
c. Vested remainder subject to open or partial divestment=subject to RAP 
4. NOTE; refer to paragraph 2 on page 159 
ii. Contingent Remainder 
1. NOTE; 
a. Under the common law the contingent remainder was not considered an estate but rather a “possibility of an estate” 
b. Was not transferable 
c. Was destructible (still destructible in jurisdictions that continue to follow the destructibility rule) 
2. A remainder is contingent if any of the following are present 
a. Condition precedent to possession 
i. Condition precedent versus condition subsequent; rules of construction which help in distinguishing the two 
1. Do the words of condition come before or after the designation of the remainderman 
a. If before= condition precedent 
b. If after= condition subsequent 
2. If it is ambiguous whether it is a condition precedent or subsequent 
a. Preference is for condition subsequent because there is a preference for vested rather than contingent remainders `
b. The remainder is in a person that is not existing 
c. The remainder is in a person that is not ascertained 
iii. 
